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1 fii|#F A0 39 4] 86 17.2 68. 8
2 fu|=sT E= 40 45 85 15.8 69. 2
3 fI| B+ FKAR 4 44 85 14.5 70.5
4 fu|=E HE 38 39 A Ay m 77 4 13
5 fu|SH ZE& 42 43 85 11.5 13.5
6 fr|NEF FEE] 49 53 102 28. 1 13.9
7 fu|fEll FER 44 43 81/ 12.8 14.2
8 | EF 1T 43 40 83 8.5 714.5
9 MIpIlE RE 43 40 83 8 15
10 FIfIUA ZEE 49 41 90 14.7 75.3
1 Hr)SFR IEAR 48 50 98 22.6 75. 4
12 fI|KHET F 44 46 90 14. 1 75.9
13 41| B3 & ER 46 94 100 24.1 75.9
14 b\ /S IEfE 4] 41 88 11.4 16.6
15 GI[#hE {hER 44 46 90 13. 1 76.9
16 {5844 AR 4] 48 95 18 11
17 fr|EArR 0% 44 43 81 9.4 11.6
18 fu %8 =E—EF 43 44 81 9.4 11.6
19 fi|§iIA E= 49 47 96 18 18
20 Gf[#2fRE 58 41 41 82 2.8 19.2
21 filtgH RER 93 48 101 21.4 19.6
22 fu|POA 51 48 99 19.1 79.9
23 filsRHF L& 49 48 97 16.6 80. 4
24 filsREH EE 45 48 93 12.2 80.8
25 i [IL&R IF Rl 48 48 96 14.9 81.1
26 fr|/ME O 43 44 817 9.9 81.5
27 fifFEH KK 49 49 98 15.3 82.7
28 Hi|HH #ia 52 45 97 13.2 83.8
29 fi|BHE A 99 50 105 20.4 84.6
30 fsr|/NEF BE— 93 54 107 22.4 84.6
31 BI|KH FEH 58 93 111 19. 1 91.9
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